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1. GHERRE) (4mX8 32:)

1)64 (2360 (3)43 (4)42 <5>% <6>£<13> @)

(1) B

(2) B
3) 52412+3-13 =52+4—-13=43

4) 15+(8—2)x4+3 =15+24+3=42

( —2) — 26+2=13

=13+2=15




2. CPEIES)Y (48 X9 H36%)
(1)72 (2) 50{8 (3)1500cm® (4)500m (5)128 (6)700/7 (7)100g (8)6i& Y
(9) 540
w3
1)

2 150+-3=50 (f&)

(3) 1.5%x1000=1500 (cm?)

@) 154 = % S

1 1
ZXZ—? (km)

%XIOOO =500 (m)

(5) HIOBOAEHDT 16X2x2x2=128
6) 560+(1—0.2)=700 (F9)

(7) 6% DEIEKDOHFIZEIEIE, 100x0.06=6gEENT\ D,
F7, 3RDEEKDFDOREIEIZERIEDSZVDT,
BIEKDEIX 6+0.03=200g £ 725,
£-T, RDBHKDEIF200—100=100g

8 3AZA, B, C& 9% LHMAGDLEERUTOREY
(ZBR, BIZER) = (A, B), (A, O
(B, A), (B, O
(C, A), (C B)
6:@ Y



3. (mm) @ 55 @ 25 2 © 58 @ 2& #Hld4%)
1) © 1256cm2 @ 210.24cm?2 (2) @O 96cmz @ 576 cm?
B

1) @ 2x2x3.14=12.56 (cm?)

@ 3EDNBI XWrEIHDOEDL
FEEAmOHIZREDT
RHFE D OEEIX
4X4x3.14+4x11+4%x134+4X16
=50.24+44+52 464
=210.24 (cm?)

2 @ 12x16=2=96 (cm?)

® 96x6=576 (cm?)

4. (BROFHEY) (35X3 39 5)
(1) 6496km* (2) 5620kn? (3) ELREEODF5AI2787 kn? AL
(1) 8401 —1905=6496 (kn?)

(2) 8401%0.67="5628.67 km?
#5629 km?

3) ZREOHMIEIL
3691 X 0.77 =2842.07 km?
72842 km?
£-oT, HEDER
5629 — 2842 =2787 km?



5. (GRIICHTAMAE) (D1IRX5=5/K (AR H9=)
I(7) 18 () 9000 () 15 (x=) 18000 (#) 15 (2) 50cm

(1) B

2) (1) D&, K& ANn-RElE
126—-54=72 (%)
ANTZIKDEFEIE
500 72=36000 (cm?)
£-T
36000 +(30x 60) =20
IKFEDE X I
15+15+20=50



